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A
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Q.3 F=fafle ust § ar siepfa & wht &1 g ot Sz w9+t sipfa o w9 81 faws stepfar
1 Hifgl

Ans
P
p/
<2 “
h
¢ @
a A

Question ID : 97675511955
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Q.4 39 ARG ol Ug=™ Sit 2T 7Q i & <t deiel ) o e R @ 2rfar 21

I, 53, ShetH
Ans
Ko
.G
O
< 3
X 4

Question ID: 97675511952

Q.5 = Ry g ues & €t hue 3R IUS a1E ) FAeeref Ry g &1 siTuen! R g Ry Rt G AT
2 vt €1 & gdwra a2l @ = udia gia &fl @t Arersl @) ufet R ag Hifag s Ry o
frsepet 7 @ i - T A g 7g ST a1 ahsTd FU 9 SIFERT Sl €, I8 HdATd 92 $6
aft g

R
gft FR, e &1
FS I, T &l

fArsen:
|. $B &R, F4 &1
Il. S oeTd, FR &

Ans X" 1. fe dherer foree 11 SIEROT el @
o 2. a7 3 Fread | ok 7 & 11 srgRoT awa 8
25 3. af Sarer e | SrgERoT SR &
25 4. ATt s | a7 1| SrgERT el &

Question ID : 97675511948
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Q.6 get afAror R & I 7 v § 3R 7 Hiex it @ au wwear 81 fOR SR o amat At femn
3% 6 Hiex = g e & &g ggar § 3R 15 Hiex =eran & 3R g fig P wr ug=an 81 ge
URfY fig O fora fRRam d 82

Ans X 1 zfRrorufam
75 2. zforgd
/X 3. IwRuEm
o 4 sRTE

Question ID : 97675511954

Q.7 Tt e e v &, ‘MAPED' @t '64' foiar Srar @ sfik 'RECK' oht '41' forat Sirar g1 39 wraT
# 'NOSE' &l & forar smemm?

Ans X' 1 63
/X 2.51
75 3.82
of 457

Question ID : 97675511944

Q.8 I Y 3R 3ART A gY 79T A gl fh 39 et A Y afgen g ag MR far i ueht H gereltdt
AE & A Y ut @1 7HET, 39 Afger @ 9 d&faa @2

Ans X 1w
X 2 s
o 3T
X 4.7

Question ID : 97675511946

Q.9 thifa 3 wge § eiftrer sies ure fohq | aagaT A Reean e sies ure fog | Aiferar A sy & &4 siek
uTe fRq | Tge = T & S1fden siek b g wigy A feean & @vH siek uTw fog | wadt @A sik
fore ur R

Ans X 1. zga
< 2.7
K 3

of 4 @

Question ID : 97675511945

Q.10 Ry 73 2l & wfg & 39 frepea ol g St 2res |E | (915949 | Qo fAuw) srafda 8?2
Ans x 1. 28

X 2. wR

W 3@

p R

Question ID : 97675511941
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Q.11 I 3R T I 2 Sit Ry T4 it # I Feier ) Safar €1

AN, HRFTERRY, AYHg

Ans

Ko

Question ID : 97675511953

Q.12 Ry g usr d, y= & AN sraual & g ddu ot gafar man &1 wya & e &) s e ag &)
g Y sy & YR R FRseht a1 sregget HIfSD ok 3RT W 1 gRATI

<Y
L=M=N<O,P<Q=R=SzL

fArent:

.Q>M
ILN=Q

Ans X 1.3 off s g 2
2o TiEad
/X 3. Faer | g g
75 4 Faa g

[ Question ID : 97675511949

Q.13 39 fAehe o1 79 &R, fSaw 21g] 1 emuw F agl @dy g, it ey i Ry 7y 2res-gm & eregl
Fd=el

ST : FATS
Ans  of 1 grafer : Rt
/X 2. e g
/X 3. AeifEed : AsmR
K oamd &

Question ID : 97675511942
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Q.14 & 7é st & frem Rrager &7

Ans X" 114
K 216
o 315
X 413

Question ID : 97675511957

Q.15 Ry g faeredl # 9, Soft & g sieR g &t 79 F

ZXVU, VTRQ, ?, NLJI, JHFE
Ans X" 1 KLMN

o 2. RPNM
/X 3.KLMO
75 4.RSNP

Question ID : 97675511940

Q.16 = § mht sioft & o dw=mm 7w
3,8,22,63,?
Ans  of 1 185
/X 2.310
/< 3.295
/X 4.285

Question ID : 97675511951

Q.17 g g faereail # |, Soft & o ug &l 710 W)

A1Z,C3Y,E7X, G15W, ?
Ans X 1031V

/X 2.B29U
o 3131V
/X 4.A29G

Question ID : 97675511939
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Q.18 A Ry Qg ust &, &t U= & a1 RAereul J AR A 2y 7w &1 enmue Ry g =l ot g
AT 8, Wt @) & gedwna aet @ M= udia gia &1 @ft Rreenut &) afew fr @ Rifeig fas e
g Rt 7 § 9 AT ahEd U | JERUT hedl g, I GaATd a2 §o ot gl

CREN

Fo foheea, R 8
qft 1 ferea &1

Ans O 1 @i dR T E
X 2. ge R ERE
X 3. et freeat, 0 &
o 4 7o frea @ @

Question ID : 97675511947

Q.19 wi=-+ft IwR 3repfay, wer Sepfa & ufasu &t Ry w3f?

A

7 | 2
.

G

Ans

Question ID : 97675511956
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Q.20 F=fafEa afievor &t 98 Fw= & g fhe &t Rl # vor-gR & e wR @ ghm?
20+5x3+3-1=14
Ans x 1.+ 3R x
X 2 xR+
X 3. xR -
(4.+3ﬁ?+

Question ID : 97675511950

Section : General Awareness

Q.1 fA=faf@a d | fore e 3 COVID-19 da=ii= shifasfies A for &2
Ans X 1 uRa sTRE

/X 2. Hren
W 3. Ire e sifw 2R
/X 4. $fT Afeeer gaifdgeH

Question ID : 97675511977

Q.2 f=afefaa a4 9 fra A& 7 St urRoT ervar 99 3ifdes 82
Ans X1 e g

X 2. defag

v 3 afd

X 4w A

Question ID : 97675511967

Q.3 fFA=fafaa | & fra s 3 adta fia "9 A 6 @@= 67
Ans X" 1 feigeTer 2R

25 2. oFeln HiRreR

o 3. ez T

75 4. S aoie veme

Question ID : 97675511959

Q.4 ¥R & IWTEUTS hl ger Y ufehar HiF Y= R Tehel 827
Ans X 1 wfFuRue,

75 2. ol g

X 3.7l

o 4 e

Question ID : 97675511972
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Q.5 GuE ZRT ¥R ifa y=ama (Indian Policy Resolution) fA=ifeif@«a & @ forw adf & sro=mar man
uT?

Ans  of 1 1956

75 2.1991
/X 3.1947
75 4.1950

Question ID : 97675511963

Q.6 & gt # A ARFIM Sarerg wet ¢ 1 98 Fefefaa 4 9 e 2 d fRa &2
Ans X 1. rgsiifar

75 2. dRaR

o 3. Tt et moRTs

75 4. AgrTrRER

Question ID : 97675511978

Q.7 fF=fafaa & & = a1 sl 1983 & Fg-vwreg deel W Fg TR ZRT FAg=s fowar war ar?
Ans X" 1. ahTetera] STENT

75 2. daetare s
of 3. s s
#< 4.5 smEm

Question ID : 97675511971

Q.8 WRd # Ueh Agarel & ¥ H wgreAr misht hi ugeht uger wat 9 A2
Ans X 1. srgwETaTE

X 2.8

\fs.?'rtrR'UT

75 4. dReeR

Question ID : 97675511968

Q.9 ded sitw ¥ e FPmfor FrafafEa d @ fora wom &Y amn 6 wyfa & forar war ar?
Ans X" 1 f et |

7 2. R faferm v

/X 3. R geag Vil

of 4 RSty

Question ID : 97675511961
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Q.10 Fr=fafae & & fora g @ 3 gédt 3w 2021 (A" sit=) Sfiar?
Ans  off 1 1o TR

X 2. S st
X 3wdm
75 4. AR BER

Question ID : 97675511976

Q.11 =fifa o & = sreasr i &7
Ans X' 1 gwrgufy

/X 2. g

o 3. e

X 4. gafa

Question ID : 97675511962

Q.12 fF=fafea 9 | fora gf® glu i gegf® v & am & oft st strar 82
Ans X 1. i

7< 2. Srgamiifirar
o 3. s
X 4 e

Question ID : 97675511964

Q.13 T REHR U aTet Tget VR &4 §2
Ans x1_m@q

75 2. meR¥

W 3. e iR

P R iR

Question ID : 97675511974

Q.14 a¥f 1922 # HgaT SHigia & SR HgTedT wieht i Foars Fi sreasrar =t aret rarefir wi
47

Ans X 1 SRy S 2eR
X 2. i Rt doeie

o 3 SRu o grfe
X 4 o 38 2R

Question ID : 97675511969
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Q.15 fA=faf@a 3 @ frg agrerug 6 Torur deme of?
Ans  of 1 oS

X 2. ara=h
P R
X 4.mmy

Question ID : 97675511970

Q.16 &=thet & IFER A | & iar e YRa o1 9o a1 e 82
Ans x133|—5§

W 27

X 3.mR

X 4. e

Question ID : 97675511966

Q.17 fF=afafew el § @ 9 "siers” gwe & @ 87
Ans X1 gy 3R

X 2. st daeie

75 3. S ez e

o 2. sz et

Question ID : 97675511973

Q.18 WA & eI uaft &1 A=f=es 1 T 82
Ans ( 1 o e

75 28R

X 3w ag

X 4 TR g

Question ID : 97675511965

Q.19 fr=fafea & @ foram wof wfez & g =i «ft?
Ans x 1. 7% oSt TR

W 2. sora i R o

7% 3.7 smRe wifRd

/X 4. 7% e TR

Question ID : 97675511960
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Q.20 1975 # ugen fehdhe fagy vy forg & 3 Sfar an?
Ans X" 1 uifhea

/X 2. sirefemn

/X 3. 9Rd

¥ - Cin

Question ID : 97675511975

Section : Arithmetic Ability

Q.1 Ry 7Q ust &1 IR 3R & g A anfrenT a1 sargdear sreoae fifSig)
ui" st & fafra framt F efenfat 6 dwear

A | B C D E

THAN 145 | 80 | 120 | 180 | 160

foea 120 | 75 | 100 | 220 | 140
o= 150 90 | 115 | 200 | 190
Hléﬂ 225 116 | 160 | 280 | 220
HRIMHA 180 | 120 | 130 | 110 | 130

1+ B & et oiiR fauor frvmt ot Aerens avfenfat it et Sivean oii @&+ D & g1 &lt
v At fAeTeRs SeaTRET it et wivean & = o srguTa T 82

Ans X" 1 9:11
X 21811
#< 3.11:18
o 4.11:28

Question ID : 97675511996

Q.2 ek fAsr urg A fo=, aiam ofiR 1T 4:6:5 o arquTa 7 g1 120 foFm & 59 st arg A aien Y e
ST areft A fhasit ghft e a==t areft ft st urq & SwRi= awal o1 SrguTd shAsT: 4:4:5 gt

Ans X" 110 fa
75 2. 16 fewm
75 3.20 fmm
W 2 8fm

Question ID : 97675511989
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Q.3 Ry 7Y ust @1 3R A & g A anforenT a1 samgdea sreaaet fifSig)
Ui TireHl & fafaa v & edenfat hr g

M5

V A|lB|C|D|E
TIHNR | 145| 80 | 120 | 180 | 160
faca 120 | 75 | 100 | 220 | 140

fgure | 150 90 | 115 | 200 | 190
HTEET 225|110 | 160 | 280 | 220
YemEsT | 180| 120 | 130 | 110 | 130

TS C & IT faumT & spefenfat i wwen, T ¢ & wft fvmit 7 Aere sfafat fr e
T oht fohar ufaera g2

Ans X" 1224
X 2.165
W 3.256
X 4274

Question ID : 97675511997

W — - — = - — =

Q.4 A mu aives & v Rg (?) & WH W a7 $em?

(420 12 X 35 + 452 —151) =72
Ans  of 155

5 2.25

7 3.45

75 4.35

Question ID : 97675511979

Q.5 & o+ fSrch fheR 8 ¥t §, ol Siisehy Qeh UFITH ST STIET @1 STaf_fifa amime &t et S
fora=m gm?

Ans  X1.2150 QHED
X 2 1950 AP
X 3.1850 QAT
W 4 1024 THP

Question ID : 97675511994
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Q.6 F=afafaa =l § 3 gaw 9 9= 7a fifSial
Ans 23

Ko

12

v R

46

895
v

428

p

150

Question ID : 97675511983

Q.7 oRT S fRradia fem & e 6t nfa 3R awr Fi fezm & wma hir wfey @1 srgua 2: 3 @1 uRT A R A
45 fFfY iy g T e F 19 R o T wwg tae § at arr & Roda Ran d ara v J
fore fomedt i 6t o e

Ans X" 115 fonrdt
75 2. 40 ey
/< 3.50 et
o 430 fh

Question ID : 97675511991

Q.8 WehIN A A Hed UR &l a¥g @I 39 Geh a¥g i 20 HfA2rd A1 UR 3% g@st a%g &l 15
TfAerd AT UR S| SER el fehaT UfaRrd o Sifsta frar?

Ans X" 1.2 5ufis@
/X 2.16.5 ufazid
/X 3.22.5 ufaeia
of 4175 R

Question ID : 97675511987

Q.9 45 G&13il a1 3T 33 &1 af uget 15 Txaraii o 3iiad 28 @ 3R sifaw 25 Twarsii & fiaa
35 g, at 2w uiw Tl o eftue foha=r ghm ?

Ans x1_39
W 238
75 3.35
X 4.37

Question ID : 97675511984
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Q.10 A<ft 24 O 215U h | 3 G Rl THY At @1 T 45 OST 15U A H 9 2 ohr oy et 813
foraa Hel & wer a1y fAeten? 351 U 23U & ofi?

Ans X' 1 186

W 227
X 315
K421

Question ID : 97675511993

Q.11 A, B 3iR C Ueh cgauma # ofi9 rgier & fA=giA 2:5:3 & srqurd & w1 o) wrem foram afy s
THHSM: 8 AEH, 6 HE 3R 9 A & forg fAaer fova m, &t 31k AT @ srquTa @ g2

Ans X' 1.3:54
X 2,459
o 33104
/X 4.6:109

Question ID : 97675511988

Q.12 3} sl &1 FgH HIIGR 39 HgwH THIUAdh T 3 THT g | TTgaH JaTIaed 3R Ag=d
THTYEdh T 91T 44 81 af ook S 11 §, 9 g S= &

Ans x1_20
K 222
/< 3.44
W 233

Question ID : 97675511982
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Q.13 fA=faf@d IR ark 2012-13 & B Hufaal i fash (@Ris o J) =) gafar g

100
86.3
80
66.6 0.4
60 55.8
422 2
40
i i
0 T T T T T
P Q R S T U

aEaC]
ot T it foarshl, & 7€ ©g dhufaal i e et farsh a1 Rt fraar ufaema ar?
Ans o 1 1955 ufaera
75 2. 15 ufaRr
/X 3.17.4 vz
/X 4,223 ufdzia

Question ID : 97675511998

Q.14 Qe € Y Fiwa & 25 ufaera K w+t gt @ ofik sufag fazh 7 20 ufdera 6 gfE g oreht 81
T & el IS U T UHTT U7

Ans o 110 sfrerq it @l
/X 2.5 ufaxd i g
75 3.10 ufisE i 9fg
/X 4. g

Question ID : 97675511986

Q.15 afg arfde 30 fret/der &t sitwa nfa & sro-ft arses & 2 62 F wics ugaar g, @l a8 i R
$ frm sitma nfar @ srfcrst anrd &R uget uga denar 87

Ans X" 1. 36 fenel/eier
of 2. 40 fafi/ee
/X 3. 45 fpfi/der
75 4. 35 Refi/der

Question ID : 97675511992
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Q.16 fA=fafa@d ust & usrearas Rg (?) & U= WR 1 719 STQT?

/5000 + V27 — Y34 =
Ans X124

X 2.9

W 316

X 423

Question ID : 97675511980

Q.17 af Qeh U ol Qe faehof 16 aif .51 @ ok 9T &orhet 96 arf Sft &, at uew & @R Aol &t
e fora=it 87

Ans  of 1 123
X 2. 143H
/X 3. 163
/X 418 3h

Question ID : 97675511995

18 i 3e+0 =243 3 s5@-» =5 & ¥ (pxq) AT AT FL 2
Ans  of 16

K 212

X 3.3

X 4.4

Question ID : 97675511981

Q.19 3600 U &t &t gererdt J fawiiAa fovan mam1 ges geres ot 8 ufdera arern saret 6 &= 9 & af
& forg e fvar mar ok gER &t 9 ufaera e et i &= & s adf & forg Faer frar mam
T uTed et FIUROT =TS 741 FUR, g Al 371 FAUH A1 RIfSig)

Ans X" 12400 TR
/5 2.1800 30
75 3.1500 30
o 421007

Question ID : 97675511990

Q.20 200 BT 7 Geh Tqet | uter 4,37k 13 ufdera sl ol Ay avgar At 39 dga! f @
o2 fasty aaar fAeh g, Rty givaar aM areft srsferat i wwer i gemn & 2 ofde 1 afk 20
ufara @sfral &t Rty givgar e 8, 9t vt | gl hif o dea frai ghfi?

Ans X" 1220
/X 2.180
/< 3.120
o 4140

Question ID : 97675511985
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Section : General English

Q.1

Select the most appropriate meaning of the given idiom/ phrase.

To burn your finger

Ans X" 1. Excellent health
X 2. In good condition espc. Getting a lot of money
J 3. To experience unpleasant consequences
X 4. Things always get worse before they get better
Question ID : 97675512011
Q.2 Select the word which means the same as the group of words given.
Transmission that combines media of communication:
Ans X" 1. Multiple
J 2. Multimedia
x 3. Multitasking
x 4. Multimillionaire
Question ID : 97675512013
Q.3 Select the correctly spelt word
Ans X" 1. Forrunner
x 2. Forarunner
X 3. Foerrunner
J 4. Forerunner
Question ID : 97675512009
Q.4 Rearrange the following sentences in their correct order to form a meaningful paragraph.
P. There are so many reasons to include veggies into your diet.
Q. Low in calories, nutrient-dense, versatile and tasty.
R. When we use the term healthy, vegetable is the first word that comes to our mind.
S. Filling your plate with healthy and nutritious food items is an effective way to lose weight.
Ans X" 1 QPSR

o 2. srap
75 3.RQPS
/X 4.PSRQ

Question ID : 97675512005
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Q.5 Select the most appropriate option to fill in the blank.

She slipped damp grass, breaking a leg, cracking a bone in the other and hurting
her shoulder.

Ans X1 by
W 2on
X3.to
25 4 at

Question ID : 97675512003

Q.6 Select the most appropriate synonym of the given word.

AMBIVALENCE
Ans J 1. Puzzle

x 2. Violence
x 3. Intensity

x 4. Despair

Question ID : 97675512007

Q.7 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select 'No substitution required'.

Since 1970, trends in agricultural production, fish harvest, bio-energy production and
harvest of materials have increased, in response to population growth, rising demand and
technology development.

Ans x 1. populated growth, rising demand and technological development.
X 2. population growing, rising demand and technological development:
J 3. population growth, rising demand and technolggical development.

X 4. No substitution required.

Question ID : 97675512002

Q.8 Select the most appropriate meaning of the given idiom/ phrase.

To face the music

Ans x 1. To enjoy a music programme
X 2. To be offered warm hospitality
X 3. To be greeted rudely

J 4. To bear the consequences

Question ID : 97675512012
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Q.9 Select the wrongly spelt word.
Ans X" 1. Guarantee

x 2. Grandeur
J 3. Gaurmet
x 4. Grateful

Question ID : 97675512010

Q.10 Select the most appropriate antonym of the given word.

Ostentatious
Ans X" 1. Flamboyance

x 2. Purity
J 3. Modest

x 4. Innocence

Question ID : 97675512008

Q.11 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select 'No substitution required'.

The medals from the two events will be counted for "ranking of competing nations" at the
Birmingham Games, the CGF said on Monday.

Ans J 1. No substitutionrequired
x 2. will count
x 3. will be count
x 4. be counted

Question ID : 97675512001

Q.12 In the following question, four sentences are given out of which three sentences are
grammatically incorrect while one is correct. Find out which sentence is grammatically
correct and select the appropriate option.

Ans x 1. The data uploaded on the portal should available in machine readable PDF formats.

x 2. The portal should allow uploaded of state government Acts, regulations and
subordinate legislations as well.

X 3. All Central Acts and subordinate legislations passed by the Centre, include rules,
regulations, and circulars, should be made available on this portal.

J 4. Navigation on this portal should be such that the complete law-making chain, right
from the parent act to the subordinate legislations, is clearly visible.

Question ID : 97675511999
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Q.13 Select the most appropriate option to fill in the blank.

We all are well aware that to hygiene, we have to keep ourselves and our
surroundings clean.

Ans X" 1 conserve

x 2. nurture
« 3. maintain
x 4. renew

Question ID : 97675512004

Q.14 ldentify the segment in the sentence which contains the grammatical error from the given
options.

If he had wrote the examination faster and answered one more question he would have
scored better.

Ans « 1. If he had wrote the examination faster

x 2. and answered one more question

X 3. No error

x 4. he would have scored better

Question ID : 97675512000

Q.15 Rearrange the following sentences in their correct order to form a meaningful paragraph.

P: The government of Maharashtra has come up with guidelines for organising of Ganesh
Festival.

Q: If organisers need to have more than 20 people, then they need to take permission from
the local District Collector.

R: At any given time, no more than 20 people will be allowed to gather in the sanctum within
the pandal where the Ganesh idol is kept for worshipping.

S: The District Collector will then verify the size of the pandal and will give permission if
satisfied that social distancing will be maintained with 20 plus people.

Ans X" 1 RQPS
75 2.SRPQ
/< 3.QPSR
o 4 Pras

Question ID : 97675512006
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Comprehension:
Read the following passage and answer the questions below.

The tribunes of Rome, Marullus and Flavius, break up a gathering of citizens who want to
celebrate Julius Caesar's triumphant return from war. The victory is marked by public games
in which Caesar's protégé, Mark Antony, takes part. On his way to the arena, Caesar is stopped
by a stranger who warns him that he should 'Beware the Ides [15th] of March!

Fellow senators, Caius Cassius and Marcus Brutus, are suspicious of Caesar's reactions to
the power he holds in the Republic. They fear he will accept offers to become Emperor. He
has been gaining a lot of power recently and people treat him like a god. Cassius, a
successful general himself, is jealous of Caesar. Brutus has a more balanced view of the
political position. The conspirator Casca enters and tells Brutus of a ceremony held by the
plebeians. They offered Caesar a crown three times, and he refused it every time. But the
conspirators are still wary of his aspirations.

Cassius, Casca, and their allies plant false documents to manipulate Brutus to join their cause
to remove Caesar. After doing so, they visit Brutus at night in his home to persuade him of
their views. There they plan Caesar's death. Brutus is troubled but refuses to confide in his
devoted wife, Portia. On 15 March, Caesar's wife, Calpurnia, urges him not to go to the Senate.
She has had visionary dreams and fears the portents of the overnight storms.

Caesar is nevertheless persuaded by flattery to go to the Capitol. At the Capitol, he is stabbed
by each conspirator in turn. As Brutus gives the final blow, Caesar utters the famous phrase:
Et tu, Brute?

SubQuestion No : 16

Q.16 Why did the conspirators plant false documents?

Ans

K 1. to manipulate Portia to join their cause to remove Brutus
x 2.to manipulate Caesar to join their cause to remove Brutus
K 3. to manipulate Cassius to join their cause to remove Brutus

( 4. to manipulate Brutus to join their cause to remove Caesar

Question ID

197675512018
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Comprehension:
Read the following passage and answer the questions below.

The tribunes of Rome, Marullus and Flavius, break up a gathering of citizens who want to
celebrate Julius Caesar's triumphant return from war. The victory is marked by public games
in which Caesar's protégé, Mark Antony, takes part. On his way to the arena, Caesar is stopped
by a stranger who warns him that he should 'Beware the Ides [15th] of March!

Fellow senators, Caius Cassius and Marcus Brutus, are suspicious of Caesar's reactions to
the power he holds in the Republic. They fear he will accept offers to become Emperor. He
has been gaining a lot of power recently and people treat him like a god. Cassius, a
successful general himself, is jealous of Caesar. Brutus has a more balanced view of the
political position. The conspirator Casca enters and tells Brutus of a ceremony held by the
plebeians. They offered Caesar a crown three times, and he refused it every time. But the
conspirators are still wary of his aspirations.

Cassius, Casca, and their allies plant false documents to manipulate Brutus to join their cause
to remove Caesar. After doing so, they visit Brutus at night in his home to persuade him of
their views. There they plan Caesar's death. Brutus is troubled but refuses to confide in his
devoted wife, Portia. On 15 March, Caesar's wife, Calpurnia, urges him not to go to the Senate.
She has had visionary dreams and fears the portents of the overnight storms.

Caesar is nevertheless persuaded by flattery to go to the Capitol. At the Capitol, he is stabbed
by each conspirator in turn. As Brutus gives the final blow, Caesar utters the famous phrase:
Et tu, Brute?

SubQuestion No : 17

Q.17 Which of the following statements is incorrect according to the given passage?

Ans

K 1. They offered Caesar a crown three times, and he refused it every time.
x 2. Caesar utters the famous phrase: Et tu, Brute?
K 3. Caesar is nevertheless persuaded by flattery to go to the Capitol.

( 4. At the Capitol,Cassius is stabbed by each conspirator inturn

Question ID

197675512019
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Comprehension:
Read the following passage and answer the questions below.

The tribunes of Rome, Marullus and Flavius, break up a gathering of citizens who want to
celebrate Julius Caesar's triumphant return from war. The victory is marked by public games
in which Caesar's protégé, Mark Antony, takes part. On his way to the arena, Caesar is stopped
by a stranger who warns him that he should 'Beware the Ides [15th] of March!

Fellow senators, Caius Cassius and Marcus Brutus, are suspicious of Caesar's reactions to
the power he holds in the Republic. They fear he will accept offers to become Emperor. He
has been gaining a lot of power recently and people treat him like a god. Cassius, a
successful general himself, is jealous of Caesar. Brutus has a more balanced view of the
political position. The conspirator Casca enters and tells Brutus of a ceremony held by the
plebeians. They offered Caesar a crown three times, and he refused it every time. But the
conspirators are still wary of his aspirations.

Cassius, Casca, and their allies plant false documents to manipulate Brutus to join their cause
to remove Caesar. After doing so, they visit Brutus at night in his home to persuade him of
their views. There they plan Caesar's death. Brutus is troubled but refuses to confide in his
devoted wife, Portia. On 15 March, Caesar's wife, Calpurnia, urges him not to go to the Senate.
She has had visionary dreams and fears the portents of the overnight storms.

Caesar is nevertheless persuaded by flattery to go to the Capitol. At the Capitol, he is stabbed
by each conspirator in turn. As Brutus gives the final blow, Caesar utters the famous phrase:
Et tu, Brute?

SubQuestion No : 18

Q.18 Whom does this line “He has been gaining a lot of power recently and people treat him like a
god” refer to according to the given passage:

Ans x 1. Marcus Brutus
f 2. Julius Caesar

x 3. Caius Cassius

K 4. Calpurnia

Question ID : 97675512015
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Comprehension:
Read the following passage and answer the questions below.

The tribunes of Rome, Marullus and Flavius, break up a gathering of citizens who want to
celebrate Julius Caesar's triumphant return from war. The victory is marked by public games
in which Caesar's protégé, Mark Antony, takes part. On his way to the arena, Caesar is stopped
by a stranger who warns him that he should 'Beware the Ides [15th] of March!

Fellow senators, Caius Cassius and Marcus Brutus, are suspicious of Caesar's reactions to
the power he holds in the Republic. They fear he will accept offers to become Emperor. He
has been gaining a lot of power recently and people treat him like a god. Cassius, a
successful general himself, is jealous of Caesar. Brutus has a more balanced view of the
political position. The conspirator Casca enters and tells Brutus of a ceremony held by the
plebeians. They offered Caesar a crown three times, and he refused it every time. But the
conspirators are still wary of his aspirations.

Cassius, Casca, and their allies plant false documents to manipulate Brutus to join their cause
to remove Caesar. After doing so, they visit Brutus at night in his home to persuade him of
their views. There they plan Caesar's death. Brutus is troubled but refuses to confide in his
devoted wife, Portia. On 15 March, Caesar's wife, Calpurnia, urges him not to go to the Senate.
She has had visionary dreams and fears the portents of the overnight storms.

Caesar is nevertheless persuaded by flattery to go to the Capitol. At the Capitol, he is stabbed
by each conspirator in turn. As Brutus gives the final blow, Caesar utters the famous phrase:
Et tu, Brute?

SubQuestion No : 19

Q.19 According to the given passage, Portia has been portrayed as-

Ans

K 1. Cassius’ daughter
x 2. Casca's mother
( 3. Brutus’ wife

x 4. Calpurnia’s sister

Question ID

197675512017
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Comprehension:
Read the following passage and answer the questions below.

The tribunes of Rome, Marullus and Flavius, break up a gathering of citizens who want to
celebrate Julius Caesar's triumphant return from war. The victory is marked by public games
in which Caesar's protégé, Mark Antony, takes part. On his way to the arena, Caesar is stopped
by a stranger who warns him that he should 'Beware the Ides [15th] of March!

Fellow senators, Caius Cassius and Marcus Brutus, are suspicious of Caesar's reactions to
the power he holds in the Republic. They fear he will accept offers to become Emperor. He
has been gaining a lot of power recently and people treat him like a god. Cassius, a
successful general himself, is jealous of Caesar. Brutus has a more balanced view of the
political position. The conspirator Casca enters and tells Brutus of a ceremony held by the
plebeians. They offered Caesar a crown three times, and he refused it every time. But the
conspirators are still wary of his aspirations.

Cassius, Casca, and their allies plant false documents to manipulate Brutus to join their cause
to remove Caesar. After doing so, they visit Brutus at night in his home to persuade him of
their views. There they plan Caesar's death. Brutus is troubled but refuses to confide in his
devoted wife, Portia. On 15 March, Caesar's wife, Calpurnia, urges him not to go to the Senate.
She has had visionary dreams and fears the portents of the overnight storms.

Caesar is nevertheless persuaded by flattery to go to the Capitol. At the Capitol, he is stabbed
by each conspirator in turn. As Brutus gives the final blow, Caesar utters the famous phrase:
Et tu, Brute?

SubQuestion No : 20

Q.20 Why did Caesar's wife, Calpurnia, urge him not to go to the Senate?

Ans

x 1. because an stranger told her to be killed by some senators
( 2. because she had a visionary dream of something bad to happen
x 3. because she was told to do so by the two senators Brutus and Cassius

X 4. because she was not much concerned about Caesar’s prestige

Question ID : 97675512016

Section : General Hindi

Q.1 F=faf@a d @ dlenif "sra= @ W I i T 3ref 872
Ans X" 1 geaa st o i gew e g

X 2. S gherar e, 34t &1 a1 Gt

7K 3. oo Bl @ 2012 & &) e gl

o 4. st awg i Rem, ZER i awg @ U

Question ID : 97675512033

Q.2 fa=fafEa d @ wa-ar 1 "fAsst” & gafaarh a8 &2
Ans

1%
/X 2. e
/X 3. fsar

K 4o

Question ID : 97675512024
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Q.3 fRw 7 areriar & fAQ U 2reg a1 TUA fHifSig-
! g T | R TUH UR T & ST ST 96h-

Ans X 1.

W 2w

75 3. e

X 4. s

Question ID : 97675512027

Q.4 fF=fafae d @ Sanaysy aras ad=am & 994 fifse-
Ans (131;

K23

K3

/X 4.3m

Question ID : 97675512023

Q.5 P & & "orarey” o Rt sreg ai-an &2
Ans X1 e

X 2.3

v 3w

X 4R

Question ID : 97675512026

Q.6 FrfafRa d & Fi9-91 s Teey TH™ S 3607 T8l 87
Ans X‘]ﬁqga,—cr

X 2. T

#< 3.y

o 2w

=

Question ID : 97675512020

Q.7 fA=fafEa d @ acw g &1 99+ fifsig-
Ans  of 1 v

/X 2. gsarn

< 3.9

X 40w

Question ID : 97675512021
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Q.8 fm=fafaa d & sigg ad+ art arera @1 wa= ffSg-
Ans X" 1. e & g wes S A Bl
25 2. Sucht wher & ke o §
(3%@%6&3@&%%@@3%
75 4. Terderan st 4o &1

Question ID : 97675512031

Q.9 f=faf@a d @ "smRreaT" 2reg &1 faLivor -1 82
Ans o 1 srrem
X 2. sreifa

25 3.
X 4 i

Question ID : 97675512022

Q.10 fm=fafea @ -7 s wia aga= d wge giar 8?

Ans (1.;@7

/X 2. R

75 3.3
< 4 sfa

Question ID : 97675512029

Q.11 fF=afafea d | far o arer faa e 1 saEzor 8?
R g @« @ 91
Ans X1 3@ I
/X 2. g e
#< 3. Gured adureh
f 4. oot sgeeT

Question ID : 97675512028

Q.12 FfafEa d @ F9-a1 g Remaieiys ae g2
Ans X" 1. a7y Sftee & I B

75 2. 59 T8 i T e

75 3. gfa arr o7 g @

o 4 sie R s T 21

Question ID : 97675512030
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Q.13 F=fafEa | 9 six[g ad+ aret 2reg o1 99+ fifSg-

Ans

75 1. oRam
X 2. s
J&grc'aTa
X 4. GofRa

Question ID : 97675512025

Q.14 F=fafEa # 9 gerarT "si3 o1 rgnar &1 o oY 82

Ans

< 1. Agd st g
/X 2. TR uRem & are|
7 3. ofrerh 7

J4. SVaeA afhl

Question ID : 97675512032

Q.15 A few 7w arem & A= & @ fora g &1 vt =& forar man 82

Ans

St foramd s an fastvor gt &, 32 g et sed &
o 1. e e
X 2. 3gu R
75 3. gofferm R
X 4. sreufRm Rg

Question ID : 97675512034

=

Comprehension:

ffafa merisr @1 eargden srerae e ULl & Ik EIfe-

TOR H <t 3rgeh ARt - aroft 3R il | 5w < a9 & TUR bt 8 Rard € ofR o o hE 1 e
3R IR &1 &) AT Afhal &1 rsg <t AfgAT 3R &1 fasa & anfgy, oo, s, ured g ree-21f<h &
T<iieh THTOT &1 TR iR 21eg <0 gl 8, fSiTert 3meRor 71 8t & & 3T a1, sgagR & o Rigia i g

greferd T8 g1

fAregg s ufth g8 8, R Rt ofik gerat uifch It saaeR &1 mgra mitel) 7 39 4 i swfda sk
g TeT ehl AT | wETeHT STt eht Frgof sfia It &1 & gord 11 & aroft ofR egeagR # Ueh 91 7 dhed &
Tt et & | TET ITH AETAT T 6T & | HERaT 7 276a Y ST0er pfay i Iure <t oft, rifes iy o

Icad g FORuTdt gorre glar &1 ‘a7 3 kY i, ey, dgifae Useraett et At ot & ot e

IRt off | IeTenT faRaTer ereal &t Srder At A AT 3 St gt dell off I G ahwelt oft | & TaeTHR et

! T 2t off | 3 & 9T IR IS 1A SfteT & TreferdT 3R therdr Ut <ht oft

SubQuestion No : 16

Q.16 fA=faf@a d @ w=-4r1 21 “Treferar” @1 vatgar T8t 8?

Ans

X 1. wwea
W 2 frew

/X 3. Sugifiar
X 4. SRagfs

Question ID : 97675512040
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Comprehension:

ffcifEa mmeriar s eaYden $TeAds e TRl S Jea AIToTg-

TR & 3F 3Tk A<hal &- aTuft ofR & | B @R aa & TIR i g GE@Td & SR o Al hH 91 5
3R MR 2l & geT Afhat &1 2rse &Y Afgar 3R &1 faa & Tifea, svet, s, O rse-fh &
Tcieh THTOT & | TR iR 2Teg <0 gl &, fSiTehT 3meRuT 7 8t & & 3T a1, sgagR & for Rigia i g
grefeprdT T8i g1

s arsg ufth 7eM &, R Rt ofik et uifh It caaeR &1 weta mitel) 7 39 i i srfea sik
31ogd TerT ehl ot | wgTeHT Sft eht Frgof Sfew It 21 & gord 11 & aroft ofR egegR # Ueh 91 S dhed o
T XA F| TEI ITch! HETT T TG & | hIaT = TG hl UL il hl IUTGHT el off, Fifeh it a1
Icad g Rt gorre glar &1 ‘& 3 Bkt i, g, Sgifae reeTaett gl @it oft| & ot e i
IuTRreRT off | I7enT faRaet ereal &t Srder el | AT1 3 St gl el off I§ 1 et oft | & TaTeR et
ot UeTaT &) off | 3t & 9 IR I8 31U+ Sfia & Greferdr 3R Gtherdr uTed <l off|

SubQuestion No : 17
Q.17 Iuer Terial & SR, Mitfsht i agrar o1 g = 8?
Ans  off 1 it e A ad o A
X 2. wig T &) ggrEr a3
75 3. 3 ahEd & g, et A @A A
75 4. < @R cafh shea 9, 78 a1

Question ID : 97675512037

Comprehension:

i merisr o1 ermyde sremae o) UAl & Iear AT

YR 7 3) 3rgeh Afhal § aroft ok | e o gu @ TR @i 378 Rard § ofk g @il d 1 2reg
3R IR &1 &t AT Uf<hdl &1 2Ts& chl AfgHT 3R g1 fava & e, e, fasi, 2 9 reg-2fwh &
T<iieh THTOT &1 TR iR 21eg <0 gl 8, fSieht SmeRor 71 8t & & o g, sgagR & form Rigia i g
greferdT A8 g1

fAegtg e Afth ggM 8, IR Rt ofiR gerat A1k at saagR &1 wgra miieht 7 39 g1 i swfda sk
31ogd TeT ehl ot | FGTCHT STt eht ot sfia Il &1 & gord YTl @ aroft 3R SR A Ueh 3 | St dhgd o
Tt et & | TET IhI HETAT T 6T & | heRall 7 27ea Y ST pfel Al JUTTHT <At off, Rifeh iy b
Icad g fORATdt gotre glar 81 ‘ar 3 PRt *mfeeeh, ey, Sgifaes sareett ot Tl oft | & af & hr
IuTfreRT off | IeTenT faRaTer ereal &t ST0et Al A ATI 3 St gt el off S G ehelt Y| o TaTeHeh et
o T 2t off | 3 & T IR I 31U SfteT & TrefepdT 3 herdr Ut <ht oft

SubQuestion No : 18
Q.18 fFAmfafaa d & Suda weriar o1 IR 2fifes wi=-ar 82

Ans X 1. g @ AR
W 2. ah o
X 3. Pree: e vd wme 2ifn

X 4. Fromf it

Question ID : 97675512036
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Comprehension:

ffifEa merier s eaYden $TeAds e URAT S Jea AfoTg-

TR & &F 3Tk <hal &- aruft ofR & | & @R o & TIR i g GE@Td § SR o v d 91 5
3R MR 2l & geT Afhat &1 Srse &Y Afgar 3R &1 faa & wifga, wet, s, O rse-fh &
Tcieh THTOT &1 TR iR 2Teg <0 gl 8, fSiTehT 3meRur 7 8t & & 3T g, sgagR & fom Rigia fi g
greferdT Tei g1

=g arsg ufth 78 &, R Rt ofik et s at caaeR &1 weta el 7 59 &4 i srfda sik
3ogd TerT ehl ot | wgTeHT STt eht Frgof sfaw It 21T & gord 11 & aroft ofR egegR # Ueh 91 S dhed o
T XA F| TEI ITch! HETT T TG & | hIST = & hl UL il hl IUTGHT el off, Fifeh it a1
Icad g Rt gorra glar &1 ‘& 3 Skt enfeen, e, Sgifae reeraett gt @it oft| & ot e i
IuTfRreRT off | I7enT faRat ereal &t order el | AT1 3 St gl et off I§ G et oft | & TR et
ot UeTaT & off | 3t & 9T IR I8 31U+ Sfia & Greferdr 3R Gtherdr ured <t off|

SubQuestion No : 19
Q.19 fA=fafaa 7 @ “Rreurft” @ o sifumg 82

Ans B 1. it shoR uRerm 7 aa 81
75 2. e Rmm f@R A 8
o 3. & T e a1 R
X 4. 3f <fter e @ A

Question ID : 97675512038

Comprehension:

Frfefad merisr o1 ermyde sremae o UAl & Iear AT

YR 7 3) 3rgeh Kt § aroft ok | e i g @ TR @i 378 Rard § ofk g @il d 1 2reg
3R IR &1 &t AT Af<hdl & | 2Ts& chl AfgHT 3R g1 fava & g, e, fasi, 2 9 Ueg-2fwh &
Tciteh THTOT &1 TR iR 21eg <0 gl 8, fSimret SimeRor 71 8t & & o g, sgagR & form Rigia i s
greferdT A8l g1

fAreg=tg e Afth ggM 8, IR Rt ofiR Ierat A1k at saagR &1 wgta miieht 7 39 g1 i srfea sk
31ogd TeT ehl T FGTCHT STt eht Fryof sfia It &4l & gord Y1l @ aroft 3R egegR A Ueh 3 | St dhgd o
Tt et & | TET IhI HETAT T 6T & | heqRall 7 27ea Y STOET. hfel Al UTTHT <At off, Rifeh iy b
Icad g ARt gotre giar 81 ‘ar 3 Rt *mfeeeh, ey, Sgifae sareett et Tl oft | & af & hr
IuTfreRT off | IeTenT faRaTet ereal St ST0et Al A ATI & St gt el off S G ehelt Y| o TaTcHeh et
o T 2t off | 3 & 9T IR IS 31U SftaT & TrefepdT 3R herdr Ut <ht oft

SubQuestion No : 20
Q.20 Iuer TTerier & HeH H, UT: g afth SR &l <1 fezama 81

Ans 3 1. ot e A1
W 2. s gt g o @1
X 3. et it o e A B o A
75 4. e gfigermen 4

Question ID : 97675512039
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Q.1 Iff:R—>Rand g: R— R are given by f(x) = cos x, and g(x) = 3x2, then -
Ans X" 1 gof = fog

( 2. gof # fog

x 3. gof and fog both do not exist

x 4. Can't be determined

Question ID : 97675512048

Q.2
x-§+§-§ +.. .. ¥ ToT EEIOT F & g
Ans “ 1.1 1]

K 2.1

K311

F ASR)

Question ID : 97675512055

Q.3 f(x) = [x] ZRT W& =¥ guUIfeh Getd f : R — R, (STET [x] #ig= quifer ot fAesfie ohean 8),

Ans X 1. gahl tReg STeeTEh el
X 2. o), sreeTed
(3.313}%@?31‘5‘1341%
/X 4. SresTed, TR Gehd! &

Question ID : 97675512045

The series ¥ (-1 = is-

Ans ( 1. Conditionally Convergent
x 2. Divergent
x 3. Absolutely convergent
x 4. Unbounded

Question ID : 97675512053
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Q.5 If f: R — R given by f(x) = 4x + 3, then inverse of f is

Ans o,
v fl=2"2
4
) —4
X2 f1=2"2
3
. 3—
X fl=22
4
X o fl= gl
3
Question ID : 97675512050
Q.6
1 a
2 b
3 ¢
4 = d
fi

Which of the following is correct if the above image represents the functions f; and £2?

AnS 1. f; is onto, fris one-one
/< 2 f is onto. f;is onto
/< 3. 1 is one-one, f; is one-one
o 4. f, is one-one, . is onto
Question ID : 97675512049
Q7
Iff : R— R defined by fix) = x2- 3x + 2. thenf{f(x)) =
Ans

A1 x4 633+ 10x2+ 3x
X 2 x4+ 6x3-13x2+3x
X3 x*-6x3-13x24+3x
o 4 x*-6x+ 10x2-3x

Question ID : 97675512046

Q.8 A conditionally convergent series is a series which is -

Ans X" 1. Absolutely Convergent
x 2. Not convergent but absolutely convergent
( 3. Convergent but not absolutely

x 4. Absolutely divergent

Question ID : 97675512060
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Q.9 Iff: A—Bandg:B— Care one—one, then gof : A— C is-
Ans X" 1. Neither One-One, nor onto

x 2. Onto
J 3. One-one

x 4. One-one and onto both

Question ID : 97675512044

1% 1fa binary operation* on N is defined asa * b=a’ + b3, then—

Ans x 1. *is associative but not commutative
x 2. *is neither commutative nor associative
x 3. *is both associated and commutative

f 4. * is commutative but not associative

Question ID : 97675512047

Q.11 If S={a,b,c,d} and p = {(a,a) ,(b,b) ,(c,c), (d,d),(a,b),(b,a),(b,c),(c,b)}, then p is-
Ans X" 1. Equivalence

J 2. Reflexive and symmetric

x 3. Symmetric and transitive

x 4. Reflexive and transitive

Question ID : 97675512042

Q12 1f 3 sequence {a2,} converges to a2, then the séquence {as} converges to-

Ans x1_ 3

+ 2 Not convergent
X 3 g2
<4 4Ja

Question ID : 97675512051

13
Q If Y a,’ and Yh,? are convergent series of positive real numbers then_ ¥./a, - b,

Ans x 1. may or may not be convergent
( 2. may be convergent
x 3. must be convergent

x 4. is divergent

Question ID : 97675512056
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Ans  off 1 s oA R 2
X 2 g
75 3. gag (AieN) 0§ ge @R
X 4R

Question ID : 97675512052

Q.15 FfafEa & @ i ar wderor Aot & Frder sifSaror 78 &arg?
Ans J 1. AEafiest T

/X 2. gerTees adieror

25 3. srgurd werr

p R

Question ID : 97675512059

Q.1

* AR @iaeNFRTU, >0 A lim U,/ 9 & et g ?

T—o0

Ans Up+1

< 1. lim

n—oo Up

1L.I-I:I.—'.‘I.

< 2 lim

n—+oo Un

Un

X 3 lim

n—oo Un+y

Un

Question ID : 97675512058

Q.17 R={(ab):as<b? griuRWMIRG GG RTH ____ &-
Ans  off 1 geu wEy TE

/X 2. dhrm

/X 3. wmfa

X 4 g

Question ID : 97675512041
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Q.18 F=fafEa & @ i+ ar-ea 82

Ans X 1. ycdch argeh F AT Y e Ut T gt @
X 2. udlie it srgn A ga afar geedieda g @
o 3. vde erge d i g B
/X 4. e IIehH T Yeh Yo el g g

Question ID : 97675512054

Q.19 F=fafEa 7 9§ &= 6 sj@en sourt 82
Ans 1 3sinl/p

r lfvrn tan /2
X 3 ysinl/?
Ko sty

Question ID : 97675512057

Q.20 Letf: R — R be defined as f(x) = 8x. Choose the correct answer:

Ans f 1. f is one-one onto
x 2. f is neither one-one nor onto
x 3. f is many-one onto

75 4.fis one-one but not onto

Question ID : 97675512043

Section : Discipline2

Q.1

If f(z) = |z)%, then

Ans X" 1 fis differentiable nowhere
x 2. fis differentiable everywhere
x 3. fis differentiable everywhere except 0

( 4. f is differentiable only at zero

Question ID : 97675512063
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Q2 . : i Amll®
The radius of convergence of the power series 2,

n=0
Ans X" 1.1/4
K 2.2
W34
K472

D%

Question ID : 97675512066

Q.3 Let X be a complete metric space then no non-empty open sub-set of X is of first category.
Which theorem states this?

Ans x 1. Bolzano- Weierstrass Theorem
X 2. Cauchy’s Theorem
x 3. Intermediate Value Theorem

J 4. The Baire category Theorem

Question ID : 97675512071

Q.4 Which of the following represents De Morgan's Law?
s X1 ANB=A’UB’

v 2 (AUBY=A'NB’

X3 (AUB)=A'NB

X4 (A’UB)=ANB’

Question ID : 97675512073

Q5 Ilﬁ'ﬁz)=u x. y)+iv (x,y)ETmﬁ'Qﬂﬁﬂ??l’?:ﬂTu -Vv=(X-y).xX+4xy +y)
ar-

A X fEz(l—iz) 4o, & Te RRiEc

K 2f@=2Q+D)+cARs BFe &
X3 f@=id+c Ao T

v 4 f(D)=-iz}+c. Ao eli® c ¢

Question ID : 97675512064
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Q6 Ffg U={1,2,3.4,56,7.8,9}
A={1,2,34}

B={2,4,6,8}, d9 (AUB)&-

Ans X' 1.{1357,9)
X 2.{1,2346,8)
X 3.2468

o 44579

Question ID : 97675512077

Q7 IAU(BUQIN[A N (B N C)] &F SET g

s X1 ANEB NCY)
K2 gAs ST ==
K3AUBUO
v« REaag=a

Question ID : 97675512072

Q.8 PR d d Faraa
Ans =1 AxBNC)=(AxB)U(AXC)

W2 (A-B)xC=(AxC)-(Bx0C)
HK3Ax(BUC=(AxB)N(AxC)

K4 Ax(B-C)=(AxC)—(AxB)

Question ID : 97675512080

Q.9
ZZ4+1

C

ZZ EZZ

dz 5181 C U dcd ¢ lzl=2 &, & #A & -

Ans  of 1 o sin2
X 2.0
75 3.2mi sin2
X 4. -2mi

Question ID : 97675512068
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Q.10 12l
AR f (2= JFe i Re (z) =0 .
0 , dig Re(2) =0

Ans  off 1 f 0 wRTaaTE 2
#< 2. f &aer 0 W Tad TE R
X 3.ttt e
X 4. f e e dad T 8

Question ID : 97675512062

Q.11 gfe n gek ar=afaes T gt iR f = 1 (cos n@ +i.sin n6 ) &, al-
Ans  of 1 fEvEa: 1= 0 ) SisaR & e e 2

/X 2. fdwaa: 0 = 0 o BigaR &R g e &

75 3. f et oft Rrsaif i @

/X 4. f g sTg s &

Question ID : 97675512061

Q.12 af} g T=aa A = ¢ 8, dt P(A) # fra? eraga 82
Ans  of 11

/X 2. I T8

75 3.3

5 42

Question ID : 97675512074

Q.13 Ffafea & @ o9 a1 = 78 82

Ans x 1.3 f (2) = u + i.v Ueh fAsAwOTTeaRther &, d u (X, y) = ¢q TRV (x, y) = ¢, difdd
(arrTier) &

x 2. e P e HIf-IAm THIARUN ot TJE 81 ahed &, df T8 [a=dAvunas I8! &
o 3. 3R u ek v & o e 8, @ f (2) = U+ v Rescwoner &
25 4. AR (2) = u+i.v U R therd €, dt u SR v 2T ) ther &

Question ID : 97675512069

Q14 iy x 3R v 2 3Red Fzga & S n(x)=17,n(v)=23 3R n(x U Y) =38,
ad n(XnY) gET-

Ans X" 1.6
22
/X 310
75 416

Question ID : 97675512078
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Q.15
A o F f(2)= E,z:ﬁ IR
Ans X 1. geft 2 2 0 & fIG f IRN-SHT THieRRUT hl TE el & Ak St e @
X 2. @i 2 # 0 3% g £ aRref-8um e o v e o &
o 3 @ 22 0% R f s 2
X 4. f arer PR & At el of sreehert T8

Question ID : 97675512065

Q.16 In a group of 400 players, 250 play football and 200 play cricket, then how many people play
both the games?

Ans X" 1.100
o 250
/X 3.250
/X 4.200
Question ID : 97675512079
Q.17

Ifg ot JfARed ¥I==T A,B,C F HIU AnB=AnC I AUB=AUC
g -

Ans X" 1 A=B=C
o 2.8-C
/< 3.A=B
X 4.A=C

Question ID : 97675512075

Q18 JfE z,=3x:x€Z}
Z={3x+1:x€Z}
Zi={3x+2-x€Z) d-

Ans X 1,74, 2,, 75 R & RTer 51a &
J 2. 74, Zp, Z3 Z 1 Ao srdt €

X 3.21,2,,:8Hg VA & dgd S 8

K4 ZINZLNZ=Z

Question ID : 97675512076
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Q.19 Ilﬁ'(x, ¥)=x3 _3xy1qq;ﬁ'q§|ﬁa;qﬁl?rf(2)=u +ivar

Ans  of 1.

v SFT mﬁﬂm (@EiEED mjlf} 8 IR vEy) =3xly-y*+cHC
o R+ §

X 2

—~v HPT JHAGT §47A (gAlfE o) & AT vEy) =y 3xy e He fg
e &

X 3

—v SHH JHAGT HYIA (Gl Foaic) § 3R v(xy) =y-3xly+c, A C
oo fER ¢

X 4

v SHH YHAG! HAIA (B oddie) & 3 v (x,y) = 3x%y-y3+ ¢, A CHIS

Question ID : 97675512067

Q.20

Hﬂﬁﬂﬁf dz, 9181 C Ush gcd @ 1zl =2, T #A &

(z-1)%

Ans 1.2 Tic
x 5, 2mic

3

NKamic
v43mic

Question ID : 97675512070

Section : Discipline3

Q.1 The angle between the lines represented by x2 - 2xy - y2 + 2x + 3y - 1= 0, is -

Ars X1 tant (1/2)
X 2
v
/< 4 tan? (1/4)

MIR e

Question ID : 97675512081
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2 3% fRwEE xy=c2é?ﬁ};(ct1.§)qra1ﬁ:ﬁaﬁwﬁﬁ§ (ctz,ti}
W e § a-

Ans < t_:gj fp=-1

voht?=-1
Xat2t;=-1
Xatitp=-1

Question ID : 97675512085

Q.3 U sifauRaer ar dfqgw 9 fhaa siffeia At i aod 82
Ans X 1gw

X 2

X 3.

o 4=

Question ID : 97675512084

Q.4 THiaRT xy - ax — by + ab = 0 Z2rfar 8-
Ans x1-‘235q?f

< 2. v dfa

o 3. e st @ gm

X 4. v sfRas

Question ID : 97675512082

Q.5 farieh srafl @ TERA aTet A T ATHRT FHiRoT & -

Ans

NK1Lxytyz—zx=0
7< 2 ax2+bl+ cz2+ 2hxy+2fyz+2gzx = 0
W3 hxy+fyz+gzx =0

Question ID : 97675512092
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Q.6 farg (1, 2, -3) & Areaw A oA arett o fargait (-1, 3, 4) iR (5, 2, -1) @t Site+ areft Heft ¥ar
& ifAea T ot AT g -

Ans X" 1 x-2y-32-17=0
o 2.6x-y-52-19=0
/X 3.6x-y+52+19=0
#< 4.3x-2y-5z2-9=0

Question ID : 97675512091

Q.7 g=r=4.cos 0 + 3.sin 0 & g o1 efa Adearie 8-

Ans

x . (gs it g)
V2 G tanld)
X3 (5. tanl )

X 4 (;, tan-1 g)

Question ID : 97675512088

o waﬂﬁ;ﬁrl‘—:+§=1 W 5 TRRE@N 36T T &6 b 3k
3id@s St 8§l

Ans

; k2 ks

X1.a—2_h_z=1
az b

Vgt

X3 a® I:lz_,1
e

; h?z k2

Ko gty=1

Question ID : 97675512086
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Q9 AT ax+ by?+ cz2+ 2ux+ 2vy + 2wz + d =0 T F T FiAfATeled i,
afe-

Ans X1 au+bv2+ewl=d

X 2 bcu+acv+abw=d

2 2 2
J 3. I A 3 1 o d
a b C
< 4 (b+c)u+ (atc).vi+ (ath).wi=d
Question ID : 97675512095

Q.10

z-mmm%Q:?:?&?é‘maﬁrﬂgﬂﬁﬁ?r

2
X‘I.’\TE

3
vz
X2

V3

#4345

Question ID : 97675512094

=

Q.11 39 et a1 Teftervor o/ g, sit &g (0, 0, 0), (a, 0, 0), (0, b, 0), (0, 0, ¢) & glehy T[sTRAT &2

Ans v (x _S)z +y _S]z_'_ (z- 21,2 " i (a?+b2+c?)
X2 (x- EP +(y- 2:'2 o Ui 32: i (a*+b*+C)

K3 xr+y?+zi=al+ b2+ 2

X o (xa)+ (y-bP+ (zc)2 =2 (@ + b2 +c?)

Question ID : 97675512100
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Q.12 Y are1 R Wielt 3 22 = y, x = 0 Y ywoT TWag (surface of revolution) &-
At o1 x2+ 2=y

K3 yi=x2+ 7

Question ID : 97675512093

Q.13 sifauRaea 6 gt Hgrt =T 59 ueR & -

Ans X" 1. 3ae @ ord W era &
7K 2. U ek @ arafares fofg R fAierar § 3R g2 shieataies fiig W frerar @
#< 3. 3 a5 @ aredferes feig R e
o 2. 3 o @ e Rigel = frerd 8

Question ID : 97675512090

Q.14

EEF% = 8 + 5 cos 8 T Icohegdl (Eccentricity) 3T 3T 1131 7 (Semi-latus
rectum) A %‘_

Ans

Ko

N
| |
- -
W |- (.51

) -
e | e

X
>
D:LI =
0o

Question ID : 97675512089

Q.15 A T | vk wRaera HY F=0g sfar g ik d Mf S @ &, -
Ans 1

v 1|:>cE

K2 1oecd

K3 Jocd?

) 1
x4. IDCE

Question ID : 97675512087
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Q.16

Ans

TfE 5,-0 35,0 TF Ter FT FAFIT &, Ar 5, +A.S,-0 T -

/X 1. uftrededt & qel @ ST arett g el

X 20w
( 3. Ttet & ufdede & g § ToRA are Yeh el

X 4. vwadE

Question ID : 97675512098

Q.17

Ans

T 6x - 3y - 2z + 1 = 0 iR Ry faig (-3, 8, 4) @1 ufafar -

K 1.(21,3)
521,22
/X 3.(0,2,9
W 49,20

Question ID : 97675512097

Q.18

Ans

ﬂﬁ.’lx+my+n=0,ﬁq}-—rl'x2+ e ing, ¥F for wide=ar ar ™y -

X‘I.n=a
Xz.n=1
K 3n=a?
W 4n=0

Question ID : 97675512083

Q.19

Ans

F-Farefrr F gaeRToT x2= 2.0y, A # 0 geTATE -

X 1. o e der

7 2. T sroRafere de
X 3w e

o 4. & wRaefieE de

Question ID : 97675512096



https://t.me/DSSSBTEACHERS1

Q.20 Qe Hag fEg (1,-2, 1) A ERaAT g iR qt AAaet 2x - 2y + 2= 0 Q& X — y + 22 = 4 Th Feaa gl
frg (1,2, 2) A Taa frgh g-

Ans %1 2
X242
v 242
X4

Question ID : 97675512099

Section : Discipline4

a1 If P(r) is a point on a surface, then P will be a singularity of the surface if —

Ans F T XI'E?‘:U

X2I1=1;
vairxn=0
Xarn=rn=>0
Question ID: 97675512111
Q.2 ) \
The value ofy/3 sin10° is equal to —

Ans X" 1. sin20° + sin40°
ZX 2.5in70° + sin50°
J 3. c0s50° - cos70°

£ 4. cos50° + cos70°

Question ID : 97675512105

Q.3 A A fF g wa8 &, x = ucosy, y = usiny, z = cv g, a T2 FeAd Hifeieh oTich Al & -
Ans .

< 10,0 u+ 2

&< 2 cosv, sinv, u2+ 1

V3 1,0,u+ ¢?
X41,0,VuZ+c?

Question ID : 97675512113



https://t.me/DSSSBTEACHERS1

Q4 qﬁamm—qzﬂﬂlﬁrz=x2+yzim 3eldcd ar ﬁm@[mﬁﬂﬂg@wm
GaART AT S 2

Ans o m2du? + vadv2= 0
v 2 du?+ uddvi= 0

K3dul+ dv?i=0
K adul- dvi= 0

Question ID : 97675512120

2 .4
I E‘O’S_I[E)+cos'l(%)=a, ar i—1+kcosa= +§—1=sﬁ1‘a 'k =7 AT FohEe SR g 7

Ans P

X1 -2

q
ab

5 2pg

Question ID : 97675512101

Q.6 A= YEait st THieheoT fohaeh IR e i &7
A 1 Ldul+ 2Mdudv + Ndv2= 0
& 2 Mdudv =10
X 3 Ldu2— Ndvi= 0
2 4. —Ldu?— 2Mdudv + Ndv?= 0

Question ID : 97675512119

Q.7 secBA (tanl0A+tansA) AT AT -
4(tanl0DA—tan6A) g Ras

Ans  of 1 cosan

X 2.tan 4A
75 3.sin4A
/X 4.sin2A

Question ID : 97675512103
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Q.8 -8 WIHHAT & T[UTich T SUGH STHE HI-HT 8?7

Ans 0 -k 0]
Xilk 0 -—t
0 T 0.

0 —t 0]
NXa2alt 0 =k
0 k 0

_ ‘0 T O]
X 3 -t 0 k
0 -k 0

1] k0

\f4- -k 0 T
0 —t 0l

Question ID : 97675512114

Q.9 For a curve to be a helix which of the following should be the most necessary and sufficient
condition?

Ans X" 1. The torsion is constant
x 2. The curvature is constant
x 3. The product of the curvature and the torsion constant

( 4. The ratio of the curvature and the torsion is constant

Question ID : 97675512116

Q.10 Sin6°. sin66° HTHA & -

Ans XL 3_\f5—
4

X 2 Vo-1
4

v 35

8

X 4 V51

(5]

Question ID : 97675512108
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Q1 gfr A ggor aﬁazﬁqr g7 & 3T 24/3sinAcosA = cos?A - sin?A, & @

cosAcos(A/2)sin(A/2) FT AT FAT R

Ans X1 8
2 -
X3 4
. 1
x4 3
Question ID : 97675512104
Q1

2
I cosecoc+ cotoc=2+4/5 8, T, cos oc & H BIET-

Ans XL V’E

Question ID : 97675512102

Q.13

b-S +
IfE X = Coto + Cose 3T Y =Cote— Coso &, ar> Xfa;rmrrrmam

=
Ans X" 12

5 2.1

X 3.0

v gW!

Question ID : 97675512107
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Q.14 @k P 3R o (FRIS &1 Sgehw) Y MeThR ashar i Bsar R 3R askar Bsar p & e wwry 7ma
gl

A X1 Re=at(p'p)?
v 2 R*=p*+(p’0)?

2 1
X 4 RR=02+(=)?

Question ID : 97675512115

Q.15 o
::Dt(?a) & AT ENTE
Ans )

F 3+\E+v'§+\fg

X2 21/3+/5+46
'3 212443+ 46

X 4 VZr/3/5+V6

Question ID : 97675512109

Q.16 Tdg ds =T 3T fohaeh gRT far mar 82

< 1. ds=H2y/ duZ + dvZ
< 2. ds=H2dudv
« 3. ds=H.dudv

< 4 ds=H+/du? + dv?2

Ans

Question ID : 97675512117

Q.17 9ag xyz = 4 R faig (1, 2, 2) U= Tusf Far a1 geiem=or = ghm?
Ans X‘I.x+2y+z—‘l =0

xz.x+2y+z=2

K 3.x-2y-2+1=0

J442x+y+z=6

Question ID : 97675512112
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Q.18 cot? 2A+3cot2Acosec?2A

cosec?2A(cos® A—sin® A)

— & AW AT L

Ans X 1.3
K21
W34
K 42

Question ID : 97675512106

Q.19 IHIRI Tag WR a3k v = fRRTh (37R), i sreur=st (a2 f@¥en) g & g ga smavaes sk
i 2rd o gt anfag?

Ans o 1. EE,+FE,-2EF,=0
/< 2. EE;—FE;-2EF;=0
X 3. EE,+FE,+2EF,=0

#< 4. EE;—FE;+2EF;=0

Question ID : 97675512118

Q.20 TfZ sin 3A = Cos (A-30) &, STei 3A 3R (A-30) =g ahivT &, &Y (sin 2A + cos 2A) T AT AT &I

ans
X222
Ko V2
SR

Question ID : 97675512110

Section : Discipline5

Q1
The Fourier series for the function f(x) = sin?(x) is:

Ans X" 1.0.5+0.5 sin 2x
o 2.05-0.5cos 2x
75 3.0.5-0.55sin 2x

75 4.05+0.5cos 2x

Question ID : 97675512123
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Q2
The middle term in the expansion ﬂf(xz + % + 2) is:
Ans x 1 1.2‘5..512:1 +1) on
. n
2. [{my, 1%
ARl
5 (Zn)!
(nh)?
(znh)

Question ID : 97675512132

Qs : : : &) dy :
The system characterized by the differential equation —== —— — 2y(t) = x(t) is-

Ans x 1. Non-linear and unstable
x 2. Linear and stable
X 3. Non-linear and stable

« 4. Linear and unstable

Question ID : 97675512125

Q4 The CTFT of a continuous time signal x(t) =&, A=0 is
Ans ) A
K v

2A

X2 @3

A

X 3. @)

2A
v (AZ+w?)

Question ID : 97675512126

@5 Find the remainder when 2252 is divided by 2107
Ans X" 1208

o 2106
K3
X am

Question ID : 97675512135
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Q.6 .
If 4.5 *= 500, then the value of x* 1s-

Ans ( 1.27
X 2,64
X 3s
X 4
Question ID : 97675512130
Q.7

(x+ 1) o @& F=7 IOTF

Ans (20!

X 54!

. (20)!
X2 Zbici

(20
‘, . {1002

X4@

" glal

Question ID: 97675512133

Q.8

Ans X 1. 5T AT R AT Y(S) # Shis R frererorar g ¢
7< 2. 3u Al AR e Ziw i Y(s) & g uRfd e 8
/X 3. e 3ROl dTed AYE & Y Ueh ST SMT9eYe I el &
o 4. v a1 gge & oY Uo uRe SSeye T SaTed R @

y(t) = 7 x(DdtgaRT AT 3T TdreR FHRer (I SEEeR):

Question ID : 97675512122
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.9
Q 1,

T Hehel x() =4 _q

S=fafad & sl @ x@ F Aifes wRax o gar &

Ans 4 nt on
1. = —_—
~ cos( 4}

mt m

V2 Zsin(:-2)

’ 4 mt m
3. %= S
x CCIS[ :l

. 4 . mtmn
iz __l_
< a nsm(__r 4}

-T

4
3T

<t=<Z
4

7T
<t=—
4

—xX(t+T)

carT fegar

ST @

Question ID : 97675512127

Q.10

Coefficient of x- of this expansion (2}(3 e

Ans

o 1.60
/X 2.40
K372
X 4.9

7
X

.

Question ID : 97675512137

Q.11 fA=faf@a d @ slsaraa &?

1. (1.01)1000000 ,, 10000
2. (98)%5 > 9500000000

25 1. a2

Ans

X aaarad2

Question ID : 97675512128
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%12 Root ofthe number 6 + 44/3)

- T
X 2 3(V3+1)
X3 V3 H3-1y
K 4 3(/2+1)2

Question ID : 97675512129

Q13 y(¢) 37af8 T & AT T arEdias O 1 U arEdiae HIe el & SE6
BT R @ & faraR (expmsion)ﬁﬂ@ﬁfW:Zﬂ(%),k:
1,2, ... IS G 16T & | ST TaT 1S A AlSlg 16T ¢ | a9 y (1) T
I HISC AT -
A XL ylt) =yit +T) =yit + T/2)
2 yit) =y(t-T) = y{t-T/2)
X 3 yit) =y(t - T)==y(t-T/2)
< 4 yit) = y(T SEEwih - T/2)

Question ID : 97675512121

- -
Q.14 Find by using binomial theorem (23n— 7n — 1) is divisible by which of the following numbers?
Ans x 1.7

o 240

75 3.15

K 4.27

Question ID : 97675512131

Q.15 Frafafea & w9 a1 e &2

Ans X 1. ydd SrEId (AIFRR) et GHTERSHTT Biell 81
7% 2. U GETheTIY thet THIE qefET &
W 3. 73 TR wem w21
/X 4. e HTERT et Teld giell 81

Question ID : 97675512139
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9% Find the sum of coefficient of the expansion( 1+ x — 3x2 4165

Ans X711
W 2
/X 3.0
75 42

Question ID : 97675512136

Q.17 n

Ans o 1 2m

Question ID : 97675512138

Q.18 . n—11 =
I £ TF Tad e & a gl—{gzrzuﬁf@ @ 7 7

e TRaT o Tl o

Ans

v, £ dx
Xzf f(lfx)dx
x?"f 1./xf(1xx)dx

0

X o f) xf(x) dx

Question ID : 97675512140
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Q19 FafienquT y(t) = x(t2) CaRT ATt fA{a Ger Jorel shist 9 Aofi & siceta
AT

Ans X" 1. sRul, & ok HY uRad-a(Causal, linear and time-varying)
x 2. TR-BRT (37hRON), RIWh (3RfQF) 3k T7g uRad-a (Non-causal, non-linear and

time-variant)

J 3. TR-RUT (37eRRUT), AWk 3Rk g7g uRad-a (Non-causal, linear and time-variant)
x 4. HRoT, RUWeh (3Rf¥ep) ik gg-uRad=a (Causal, non-linear and time-varying)

Question ID : 97675512124

020 afg 75757 1 37 A TS AT SR &, A AT FAT ghN?

Ans ¢1.1
X 2.7
X 35
X 40

Question ID : 97675512134

Section : Discipline6

@1 (32071 4 200 s divisibleby

Ans (1.7
X 2.3
535
X 4.2

Question ID : 97675512150

Q.2 By mathematical ascending method the value of 1+2+3+.......... + nis

Ans (n+1) (n+2)
1, B e
x 2

; {(n+1) (n+2)
A i e e
x 3

; nin+1)
X 3 —
J , B (n+1)

2

Question ID : 97675512149
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* General form of the statement is (1 + %) (1 +§) (1 +§) (1 + i) is-

Ans

X1 (n+3)

X2 (1 +i)
X 3 (n+1)
vi@+1)

Question ID : 97675512158

.4 2
4 g @fET L=[tan®xdx, (n>1)  I,.l1;=a tan®x +bx*+c &, ST@T c GATHT

T TF FORiE TR e ST A LA (3, b)) Fagag -

xo (-2)

Question ID : 97675512144

** e fow 7 B farw 2o P(n) nl < () 22T 0TS e

qUTies e 2 |

Ans (142
X 2.3
X 3.4
X4

Question ID : 97675512151

% The statement (52— 1) is always divisible by-

Ans X" 142
K 2.25
o 324
X 415

Question ID : 97675512154
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Q.7 <hA-H} JHHAT T &7

Ans . 1 2 1
X1 =<1y e dX“:E
e

X2 -1<l,efdx<1
val<lpe¥dx<e

Kae<le¥dx <1

Question ID : 97675512141

Q.8 39 @ &9 T HYF 9 &-
Ans . a1
X1nl< (—)
2

n
v 2 ! {(ﬂ—ﬂ

2
< 3. n! > (n)n

n
X an!> (H—H

2

Question ID : 97675512157

0 famafaf@a # @ Fiaar BEeT @@ 22
A S £:[0.1] — R9Renfa giar &=

_qyr—1 1 {1 o
ﬂx}={{ e R i S TN S

o, adx=10

Ans X" 1. £[0, 1] R TR &, Afhe f uRag @
75 2.£[0,1] R guTeheria &, aft f & srame
o 3.70, 1] & Tt &
75 4.f,[0,1] & wHTeRerT TE

il

Question ID : 97675512145

Q.10

Ans X (@t1)2=t +2
v 2 (@-1)201 +2
X 3. (n-1)2n+2
K 4 (mF1)28+2

Question ID : 97675512156
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O a1 fix)=x[x| @, o Bre of areafas TeaTa AR b, ST a <b

g % fore [P f(x)dx g

Ans

X1 2(a%-b%)
X2 Z(1b°- 2 )
1

(34-5{“3]5-]3}5)
X s Ha*+b?)

Question ID : 97675512148

Q.12 2
HTFoT THEIOT XZ%—EXZ—i+4y=U T ET Y-

Ane K1y ={(ci+c logx)e
X2y=(ci+c logx)x
vy =(ci+elogx) &
X4y =(cite logx)e*

Question ID : 97675512159

Q.13 F=faf@a # 9 &= a1 srgfRAa TsreRe (improper integral) SifRERY 8-

Ans Xl J_TE 1

0 1—cosx

Xsz L dx

logx
_ 2 x
X 3 fl Togx dx

i
v fﬂ VX(x+1) ax

Question ID : 97675512146
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Q.14 3

R o @ 97 Rerg 21
Ans e i
X z=p il
v - AR
X0 -3l
Question ID : 97675512142
U Feue (x2—y2) ¥ fenfaa 2

ns X1 (xty)
V2 (xty) (x-¥)
X3 (xy)

X4 (x-y)

Question ID : 97675512153

Q.16 3iaeher HIGHRUT (2D+1)2y = 0 &1 & &-

Ans 1y = (A + Bx) ex2
X2y = Ae*?
X3y=(A+ Bx)e®
X4y=(A+B)ex

Question ID : 97675512160



https://t.me/DSSSBTEACHERS1

Q.17 F=fafEa 7 @ &= a1 s/l swrere siffest 87
Ans o
. 1
X‘I. f @dx
1

==}

Question ID : 97675512143

Q.18 P(n): 1.11+2.21 +3.3! +....... n.n! = (n + 1)! - 1, @ &A= P(n) 94 g-
Ans X1 n>1&fR

o 2 nFeiad

75 3. n & ol Hoee A & forg

X 4n>axfd

Question ID: 97675512152

1 afy 1, = [ xsinx dx, p>L @ L +@-1)1,, F TRY

)

2

()
K (@

x4 ()

Ans

Question ID : 97675512147

Q.20 P(n): 1.6 +2.9 + 3.12 + .........+ n(3n + 3) &Y T 7T AT &2 -
Ans X" 1.n(n+6)

W 2n(n+1)(n+2)

K3 (n+1)(n+2) (n+3)

75 4. (n+3)(n+6)

Question ID : 97675512155

Section : Discipline7
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Q.1 The number of onto homomorphism from Zg to Z, is-

Ans x1_3
K 2.1
< 3.4
v W)

Question ID : 97675512177

Q.2 AR g G a8, af ofk dhaw afy-
Ans X" 1.0(G) = n, n fars quiies &

75 2.0(G) = n, n RIS yoifer &

7< 3.0(G) = n, nwm ot &

(4. 0(G) = n, n T YUTich &

Question ID : 97675512176

Q.3
The particular integral of (D +a’)y=sinax (D= %{) is —

Ans . Xa
/X 1. —cos ax
2
§ Xa
X 2. - —cos ax
yid
X
'3 - —cosax
2a
. X
/X 4. —COSs ax
2a
Question ID : 97675512162
Q.4 dﬁy dy
E+Za+y=e" cos x dhel HARIOT FHT AT Bl ﬁ'—
Ans

X
v 1 (¢ + ¢y x)e* +%(4 sinx+3cosx)
< 2 (c;+cyx+sinx)e™

X 3. (c1+ ey x)e* +%(4 Sin X - 3 cos X)

. e* .
K 4 (c1+crx)e™ +:(4 sinx+3cosx)

Question ID : 97675512165
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5 Iy e FHFOT 22y +xy' -y = 0, FFAUR Y = X §, & G2 71w
TR 7 T Rw ¥ & F=ET TAT &

Ans a1 x3
< 2 x2
v &
K 4 x?

Question ID : 97675512168

Q.6 TfE x = A cos (mt - a) g, At 3T Heitl Tt TG HI ATAT SAhel THIHOT -

Ans dz
X —dt:=n1-’5x

; dz
XZ. I:=-ﬂ.3x

dx
X3 i 1-x?

Question ID : 97675512166

Q.7 =7 +fif9g (G, o) sz (G,*) &t uRfAw (HifAa) wg & ik ©: G — G' U IHT<sTESh FHTHRIRET
(epimorphism) &, @t -

Ans X" 1.0(G), O(G’) &l HTsieh e &1
o 2.0(G), 0(G) &1 wTiar 21
/X 3.0(G), 0(G") & wTieh &1
75 4.0(G), O(G) T wrsieh 7 &1

Question ID : 97675512172

Q.8 = ifSig (G, o) sk (G',*) &t &g & sk f: G — G' T "Hw=UaT (homomorphism) §, at f (G) -
Ans  off 1. G &1 v R SuEE &, <6 G T T 8 aehar &

/X 2. G & usha Suamg Haffag 21

/X 3. G &1 TR Iueg T 8, af G TR}

/X 4. G @ uhia SuaHE &

Question ID : 97675512171
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Q.9 1,2,3,4,5,6 3 3ichl el ITTNT &= &, &k ger g IR, 3000 3R 4000 & = Y fora-t =g
Eoicik kel

Ans X" 1.90
75 2.100
o 3.60
75 4.70

Question ID : 97675512180

Q.10 1f %P5 +5.%P, = 1P, then ris -
Ans X" 110

5 25

< 3.9

v N

Question ID : 97675512179

Q.11 7= ST (G,0) 3R (G'*) &t THE & 3R d: G — G' ek IHT=BTEh THTRIRAT (epimorphism) g1
at ® THEY TGRS (isomorphism) & af 3R dhaer af -

Ans X" 1 Ker®={eG}gral
of 2. Ker © C (e} &Y i
75 3.Ker ® C {eG) gt
75 4.Ker ® = {eG} @t

Question ID : 97675512173

Q.12 Pt & @ @b-ar o T8 21
Ans J 1.
I7 H U AT §HE G T WA 398 8, df [G:H]=2.
X 2
HHE F TeiF FATAFAT ( commutative) STHHE, 3H HHE F WA STEHE gar
gl
< 3
T Ao G, FF 2p FT - FARTAT TR 8. p AT E INFIT T FATHF
HITF a 3ITEAT § S0 FHpg. I <a>, G H THAIE|
X 4
mmﬁ,ﬁmwam[abP=a3b31ﬂ-ﬁ'a:bEG§?m ?’,Fﬂ'H= {x*:x
€ G}, GFT AT 3THHE £

Question ID : 97675512169
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Q13 gfg2e+ip | -201p =358 & n FTAGTFTE?

Ans " 12
24
X 30
X 43

Question ID : 97675512178

Q.14 I GSHIFR F Uh WHg o, h Sllae G [T al=c g, dl G-

Ans X" 1 8 (field)
/5 2.9 (Ring)
f 3. sraftrr T
X 4. reorafer g

Question ID : 97675512175

Q.15
e*(cy cosv3x + ¢y siny3x) + c3e?* — T WHT g 8-

Ans dZx

g

- d3x dx
XZ- d—]Tg +xd—y-3x—ﬂ

+4y= 0

Question ID : 97675512161

Q.16 af¥ f HuT guTeH I X T FaTees I Y & AR amfsor a= @1 @ at-
Ans X1 fRRRTER

o 2 fa ET @ PR R

7< 3.f,x = 0 T ufad g

X 4. f gep QUM (step) He §

Question ID : 97675512174
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Q.17

mm4g+4:—i+5y=umﬁ$mﬁﬁﬁ?mﬁ-

Ans W 1 e *2cosx3Re™? ginx
X 2. e?cos x 3{Re ™/ %sin x
X 3 e¥2 cos x 3R e¥/Zsin x

X 4 7%/ 208 x 3T e¥? sin x

Question ID : 97675512167

Q.18 #F ST i H, T9g G =1 Iuwg & 3R K, THg G &1 9THI IUTE &,
Ans X" 1. K, HK ol 9= SU9HE T8l 21

Jzi K, HK @1 Teh T8I IUTHE &

75 3. K, KH & G 1= SU9Hg &

25 4. K, HKN KH 1 Geh QT Iueg &

Question ID : 97675512170

Q19
Y 9 o —cosx+3sinx HaHeld THFIT F TH T 7o -

dx2 dx
Ans X" 1 sinx
x 2.cos X
x 3.-Cos X
J 4. -sin x

Question ID : 97675512164

Q.20

d? d
HIFT FHROT 5 —3 -7 + 2y =& FT EA §-

Ans 1
v }r=cle"+c;ezx—l—£e3x
. 1
X2 y=cieteel+ e
| 1

X 3 y=cjex+cyelx+t 5 e3x

1
' =g eF et~
Kay=c 2 =

Question ID : 97675512163

Section : Discipline8
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Q1 1f two vectors pi” +2j” and 3i" - 3] are aligned. then what is the value of p?

Ans 711
22
K32
K 4.1
Question ID : 97675512190
Q.2

If =P, = 336 and *C, = 56, then what is the value of n andr?
Ans X" 1n=3r=2
o 2n-8r=-3
X 3n=7r=8
X 4an=14r=4

Question ID : 97675512184

Q.3 afe aea R, acawreht sAfafda aera(commutative ring with unity) 8, @ Igus ae@ R x 8-
Ans J 1. QohTcHhdT & 19 Tan SifafaaRfie R (a non-commutative ring with unity)

x 2. UehTcAehdT o forT Uah faffdasiier R (commutative ring without unity)

x 3. UahTcAahdT o faTueh sifafaasfier R (non commutative ring with unity)

x 4. YehTHehdT & ATY Yeh fafAaasiter R (commutative ring with unity)

Question ID : 97675512199

Q4 F TATAT R= (Z; x Ly, +,.) A1 2 &I U aAd Sofldl ¢. S8 &l (a, b) + (e d)
=(@+c.d+d) 3R (@ b)c d)=(ac b.d);(ab) (c, d e =xZ & T ar-

Ans “ 1. R, Uoh dcH<h! shAfafa gefd (commutative ring with unity) & @ ST =T T HTSTeh &IdT
&

/X 2. R, 7o degw &Y shwfafada aera (commutative ring with unity) &, fores < T wiToTeh el
gard

x 3. R, Toh STehATAHY demenfd@ e aeid (non commutative ring with unity) & SR 599 g7
T TSI 81T &

75 4. R, Ueh deawdhl aierAfafAY ger (commutative ring without unity) & 3R g 1 &1
HTSIeh 761 81aT1 &

Question ID : 97675512198
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Q.5

Ans

fa=g A. B. € 3D & Rufa-afger swaer: 317 -7 27+ 2j7, -217- 377, 41"+ 377, &
SRT#T AB || CD &1, A 3eTeh AT &1 11910 F2T 52

X123
212
X 3.32
< 4.2

Question ID : 97675512189

Q.6
Ans

(1,1),(-1,-1) 3R (-v3,v3) ____ afeargl
X 1. THeR Bgs
X 2. wmfzag e
f 3. g Bt
X 4w g

Question ID : 97675512193

Q.7

Ans

faegU A (-2i7+3)7+5K), B (i +2j™+3K), C (71" -K) &~

75 1. ge g Rt sEmn
o 2o

75 3.. 7o gHaIu Brgs AT
X 4 sraEE

Question ID : 97675512194

Q.8

Ans

Sehls G2 AT HRA A Gl Sl AiGel 77 =317 - 2§
a7 = -4 + 4" F AT F AT -

v UINS(-T+2)

X 21/5-1-2)

X3 IN5(i7+2))

X4 1/5(i-2)

Question ID : 97675512191
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Q9 gfr A 3B e Feufa-afersi® +3i° 32 -5 &), ar afger AB $rforuifa Rerakh-

Ans X" 1 sin” (-5/3)
75 2.sin” (5/3)
o 3.Cos (:3/5)
/X 4.cos™ (3/5)

Question ID : 97675512192

Q10 gfe &, aRAT <a” v e AR A vk
Mema feers, dr Ad v gos Afcer g afg -

Ans XK1 A= —1@
XZ. a=|-'1|33r
X3 A=18@l

v & azﬁﬁf

Question ID : 97675512196

Q.11 Tk agyst & fepof H e w1a Hiforg weht e 6t vz 'n” 81
Ans X1 (n-1)(n-2)/3

X 2.(n-2)(n-5)/3

o 3.n(n-3)/2

5 4n(n-1)/2

Question ID : 97675512187

Q.12 afEx = 0 3R f(0) = 1 & __ uR 31fAarar gt at s f(x) = x sin (1/x)1
Ans o 10

K22

75 3.3

K4

Question ID : 97675512186



https://t.me/DSSSBTEACHERS1

Q13 Ifpna | = 2 then what is the value of m?

Ans

Question ID : 97675512188

Q14 amrz‘;anaggs=[(%‘ 205):0.,!162]# e & foeet & & FT g 22

Ans X" 1. Qenrerendl o fAT ST o Ttk el g1
75 2. UehTHRAT Gfd I & e
o 3. v & R R & st
/X 4. Ut AfRd I o T e g

Question ID : 97675512200

Q1 gfE(x”-a") (x"+a") =8 I a” s T AT <" T AT ZHaTT-
Ans X1-9

W23

X 38

X 4.4

Question ID : 97675512195

Q.16 JUXTAPOSED # 31erRl & fohaa 31eliT shauRad< & IR WR Teh 91y 311 &7
Ans  off 1120060

75 2.182900
75 3.190026

75 4.102960

Question ID : 97675512181

Q.17 There is a group of 11 cricketers. 4 can bat and 7 can bowl. In how many ways can a group
of 5 cricketers be selected if the group has at least one batsman and bowler?

Ans  of 1 441
/X 2.745
/X 3.669
X 4.237

Question ID : 97675512185
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1 gfg 25¢, =250, Ol *Cs BT A T8I ?

Ans " 150
/X 2.65
/X 3.64
o 456

Question ID : 97675512183

Q.19 If no two ‘-'signs can be repeated, then in how many ways a line can be made from six +'
signs and four ‘-’ signs?

Ans " 1.50
X 215
o 335
/X 4.53

Question ID : 97675512182

Q.20 3IY 3feRTe St AT RIFAT FHGH f(x) = 2xx2 - 3%, ZRT USH Bl f AR adA= & -

Ans 3 3
p I
4

. 3

X 20,2

4

V3o

4

’ 3
x4. —;,m

Question ID : 97675512197

Section : Discipline9

1 The integral f:ﬂinx dx—

Ans x 1. Exists and is equal to 0
J 2. Does not exist
x 3. Exists and is equal to 1

x 4. Exists and is equal to -1

Question ID : 97675512220
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a2 3 3 W a1y n
limn_m(;-i-a-- '“T mequalto
Ans «1.1
75 2.0
XS.e
75 4.0
Question ID : 97675512215
Q.3 F=fafaa d @ Si9-u1 eegg o1 aea ges & (field) T8 &2
Ans . a b
X< [(_b a): a,,bER]
a b
VS (CHRI
, a b
X& [(ZEJ ok a, b EQ]
: a b
Xa{ls, o) «bee)
Question ID : 97675512207
Q4 mlsin:rl
Ueh HATh el = gy -
0
Ans  off 1 aifrerdt & Qfte gof wu @ T
Xz.wwﬁaﬁvﬁf’r%
X 3. o g 8
X 4 smEr g
Question ID : 97675512219
Q.5 . u,
A lim,, ., 2 =120, dl 3R {U,}
Ans X14wfﬁ¥rr8%
X 2. uRag?
V 3 Reg g

/X 4. uRag & Gehell a1 7€) & TehaT @

Question ID : 97675512214
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Q6 et ST sU, TR T & TR Af & 3R v, ereTee vt T STy A, -

Ans

X 1. A {V, ), oo T AR

W 2 HEEH (U, ). 0F AEERIEaT &
X 3. gt T {U, } 3R {1} HFEEE
X 4 HAHH (U, ABERIE IR HGmA {1V, ATERIE

Question ID : 97675512209

Q.7 n
. 1 (1",
The series Yo Lf_ﬁ ;3 F] is -

Ans X" 1. bounded
X 2. convergent

x 3. oscillatory
( 4. divergent

Question ID : 97675512212

e HIel NI M (R) H3ll 2x2 3TTegl &l @fewd &, al Ma(R).+. ) & -

Ans X 1. S & TSIl Xfgd SrRHIAAY derd
o 2. 37 & AT afea sl g
/X 3. 37 o Tl Rfed shafafag e
75 4. 3 & viToTent afed shefafRg de

Question ID : 97675512205

Q9 1.t {U.} be a sequence of real number such thatlim_,_, U, exists, then
Ans 3 1.bothlim ., Uy, and lim, ., U, do not exist

W 2 bothlim,,_, U, and lim,,_, U, exist

/< 3 lim,_ U,, does notexist butlim,_,, U,, ., exists

/< 4 lim,_, U,, exists butlim,, .. U,,,, does not exist

Question ID : 97675512213
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Q.10 APhH 2+ (-1 a &

Ans x 1. <lg STeR AT (constant subsequence) gt
x 2. gurfd: fi 3R Srgadt (constant subsequence)
x 3. gurfd: Gen TR Siad (constant subsequence)
“ 4. gATYa: &Y 37eR 3gad! (constant subsequence)

Question ID : 97675512211

Q.11 3m@ty-aif e/ (mod m) Tek guifehra wid (integral domain) &, g m & -
Ans x 1. G quifeh

/X 2. U T g

o 3. e

/X 4. veh uRdg e

Question ID : 97675512206

Q.12 F=faf@a # 9 &= @1 g ga guiidhia uid (integral domain) 8?
Ans X1 (ZxZ+)

Question ID : 97675512203

Q.13 f=fef@ad @ sla-araa &:

Ans X‘I.W{ncos‘/n}ﬁa‘fﬁmwé
(2.W{sinn}wmw(ﬂa@2ﬁﬂ)%
75 3. e argehn g Uen SIRIRUT SrgghH il 8, T ahieft (Cauchy) 3iehd gla

75 4. ucieh oA Fore e IfERYT SIHA BT & 98 Ueh UReig 31w (bounded sequence)
g e

Question ID : 97675512210

Q.14 ; [P L (_:i;ﬂq] g__
Ans X1 suReg

o 2 oReg

/X 3. smErd

7< 4.3

Question ID : 97675512208



https://t.me/DSSSBTEACHERS1

Q.15 40 —29 -—11

Suppose the matrix A = (—13 30 —12) has a certain eigen value

26 24 5o
A £ 0. Which ofthe following must be eigen value of A7

Ans  of 1 20-A
X 2,420
X 3.4+20

< 4 -20-4

Question ID : 97675512218

Q.16 A ST fF n 2 2 & AU M 4T n x n TRl ey g1 Fafaf@a 3 @ w9 o/ sy o«
&

Ans X 1 rank (M)=n= det(M)=1
< 2 rank (M)=1 = det (M) 0
o 3 det(M)=1=rank (M)=0
X 4. det(M)=0 = rank (M)=0

Question ID : 97675512217

Q17 A fE) =22 vxeR- {2} caRTIRAMRWI helel f - R—{~2} >R &I

x+27

T 3G |

Ans X" 1. Tk thet
o 2. ofda tem
/X 3. aguda e
/X 4. Rig wem

Question ID : 97675512202

Q.18 aeid (Z,,, +, .) Ueh YuIfehiar Wid (integral domain) &, afe 3R dhaer afe:
Ans ( 1.n 3T &

/5 2. n e qutles @

x 3. n foww srvmsw &

X 4.nfwme

Question ID : 97675512204

Q.19 dwh g@a R & AWl T R A g Qh ________ F=IIQ-
Ans X‘Lg}j

X 2. v s 2

75 3. aeHdh ae

W 4 e & Tey A

Question ID : 97675512201



https://t.me/DSSSBTEACHERS1

Q.20

A+ OO+ (B Q)] FAme
Ans o 10

< 3.1
/X 4. mr E et

Question ID : 97675512216

Section : Teaching Methodology

Q.1 TIfOra & Uk =T fAareh ag g & ot -
Ans X" 1. gAsT Ueh € fafd T uTer e @
X 2. sifveor < a shefed T @
75 3. 31T &R % oIy Sherer Siga IR TERTY 3T &
o 4. TETas, siadfeuf gt & o il @t sredt avE wHEaT &

Question ID : 97675512222

Q.2 = fofla # & e ua fAemff w Serd &, Get ) ugar, sl SR SR &t 3= @
&R, GG 3R AT Ja F TS & enel & 7

Ans  off 1 gea i T
75 2 g AR @R

7K 3. 7T RO

X sgmaf

Question ID : 97675512236

Q.3 IURITH A & UTS FISHT & IR § i 91 U Tl 781 82
Ans  of 1 75 ot grT R fr T &
7% 2. T dawehte Rieror § s @
X 3. 75 T o v wu @ ke F  7eE R
7 4. g Rieren 7 Ry el o &

Question ID : 97675512224

Q.4 fa= fof@a 3 9 ug Fy= fad gR1 &g T - "fAenfdat @ srféra sifaw aaagr & d@edf o
fAEarreer I2 24l o1 R er<aT gui= foRar STaT 22

Ans X‘Igﬁaﬂﬁé
X 2. 3w fer
o 3 JeEaR
/X 4. At argt

Question ID : 97675512229
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Q.5 F=faf@a d@ @ = uRfYe T saurm @ ddfdd adi 82
Ans X‘].q'rq'

/X 2. ot wEaw

\,3&4‘?&1131

/X 4. aifferor

Question ID : 97675512230

Q.6 The number of students in cooperative learning groups are
Ans X" 1 Eight to ten

X 2. Five to Six
( 3. Three to four

x 4. Ten to Fifteen

Question ID : 97675512234

Q.7 Which one of the following statements is correct?

Ans x 1.1 is the smallest prime number
( 2. A composite number cannot be odd
x 3. There is no even prime numbers

x 4. Sum of two prime numbers is always a prime number

Question ID : 97675512235

Q.8 T & YR S1a aTeieh Sftu=aTRes foRaTeTe sraw A glan g, a9 Susi & 4 39 ford &t
ufsa drsRa giare ?

Ans X" 1. 3iehg) ol HEH
/X 2. @
fs.agqmqémqma
X 4 sarfafy

Question ID : 97675512238

Q.9 The hypothesis underlying team teaching is

Ans x 1. A single teacher cannot control the class
75 2. Teachers are not competent
x 3. Teachers feel bore while marking alone

( 4. The best teachers in schools are shared by more students.

Question ID : 97675512232
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Q.10 Which of the following subject/s Mathematics is a part of?
Ans X" 1. Geography

x 2. Economics

( 3. Geography, Economics and Commerce

x 4. Commerce

Question ID : 97675512226

Q.11 Who said that “Mathematics is the language in which God has written the universe”?
Ans  of 1 Galileo Galilei

x 2. Aryabhatta
x 3. Marshal Stone
x 4. Bertrand Russell

Question ID : 97675512221

Q.12 Which one of the following is not a mathematical process?
Ans X 1 Visualization

( 2. Memorization
x 3. Estimation

x 4. Measurement

Question ID : 97675512237

Q.13 fA=fafad 3 @ 91 a1 R Y= 70 UeH & 2 hudu A g g ?
1. GHET & g1 A hY 3} errar R f{a e
2. ol 9 A ermar @ e
3. TeTait 3k ST yure! i st aHst faenfad e & forg

Ans X' 1 el 19R3
o 21,23
/< 3. &aw2 3R 3
/X 4. %ae 18R 2

Question ID : 97675512223

Q.14 Prafafea & @ R srdds A At stedt ) Rfore R man g -
Ans X' 1 iy et &

75 2. A adaa

o 3. &= FridE A

/X 4 TR @S A

Question ID : 97675512231
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Q.15 In a mathematics classroom emphasis is placed on

Ans x 1. mathematical algorithm and process
« 2. mathematical content process and reasoning
x 3. problem solving strategies

x 4. mathematical content

Question ID : 97675512239

Q.16 The term Mathematics was coined by-
Ans x 1. Pythanorean

x 2. Pythabactus
x 3. Pythamasciour

( 4. Pythayoreans

Question ID : 97675512227

Q.17 Which one of the following is not a problem-solving strategy in mathematics?
Ans x 1. drawing

x 2. trial and error

x 3. solving backwards

( 4. Rote learning

Question ID : 97675512240

Q.18 Cooperative learning is an alternative to
Ans X" 1. Microteaching

X 2. Teaching models
x 3. Lesson plan

« 4. Competitive models

Question ID : 97675512233

Q.19 Who of the following invented the letter system?
Ans ( 1. Arya- Bhatta- |

x 2. Kumargupta
x 3. Sidhanta

x 4. Bhahmagupta

Question ID : 97675512228
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Q.20 IRk # & S T1 o & uteT=at gd Hafor w1 Rigia 78 &2
Ans X 1. S o dard an Rigia

X 2.zt @ Rigia

V 3 s ERaag

/X 4. 3ara & ary Rigia &) srgsar

Question ID : 97675512225
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